REAFELNET

pLuY

—
. -

REDE

-

o

TORRIEARRI

D9ADTGL—FIT —

/.

*®

gll -+
= 3
@ 3
= H .
as 53
S Ra « =|fAE:
; ; u < i m
Ce T Te8] e & €5
3 s 1% i : -
o
T e 5 = B X m 2
e x ; B
A N . Ke
T .. e ._m ﬂA ﬁ uh o
L ”.Acﬂ._.T... W_ o . g w =
L N}
| > <
0G 0S5 050G TS N w
1 1 = 4 m
Gy 14 00< 14 Cy = x| p=
i) aJ
> ool N = v
NN NDX
L1¢ A B
BY:: | IN S gl
= o >
|_ ~ _ AH B
1 <C
el 8
L
L
_ _ |
C9¢ LY ¢9¢ H o R
oV
| i U
L e i T <
fa===! = N
oo =
6 —
T 1
_DlD MHH i of W X
[aa =
© ]
LM~ Mn
N |
X|=
B 1
D |
L= Nﬁ Ip)
I il v
—|, 0 5
>< ™M L |
=g & N il o=
N | T ¢
[aa]hed _m.ﬁﬂdn_ ~
mHﬂ A4 W -~
& —
Nﬁ B
i =
Nﬁ |
5 B —a= |
< ]
> K L_{
= ]
A ﬂ procoes e U 3 Is !
o . l l . Nﬁn ﬂ y .
Ll ]
EEE.E‘EEEE 3555‘EEES = _RVM o .w.oww ..w‘owkdu o _,E
~J o] 25|93 | o A
W eroovod |owowood froooord. feaoaaed] = QUi ials +9vr o [OU |
I/ Il i A Rl I N I
oo .l 14 koo ELL W | B | ojM m
I e e . _unmm
‘= A L miiz| $e
K od O O
| S S |
Al N
o E.___
-~ -~
@\ S &
= QM
YR
X
D R
[qu] ~ ﬁ




B & % H &

& AR
o IEFRsEE  WKZ-X 20 - 525 (—#%) o ERAWE T-6
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o FRAMAE 1B o X724 13— WXI-25x5x3. 5
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+ 1% W — i o T P = 24 kN -EvF Pe= 33 mm
- EHEEZRE i = 04 - BT R Z = 381 mt
-EEEEELZWE P, = 33.6 kN
- B mEE axb =200 mm x 240 mm
- R FERE R Q= 150 mm
s RF7YUGNR—FAFKER & = 200 mm
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RTFYDGN——REBHMHR L LTHET B,
=NV | op, = 0.180 kN/mm’
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W= axb
33.6 x 33 _
W —200—)(240— 0.023 kN/mm
M=LXWX Qr x (22 — 21 ) (0> 08 0,=20)

co

%x0.023 % 150 x ( 2 x 150 — 150 )

65.0 kN-mm

o =%=%t_ 0.17 kN/mm2=ob
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+ 1% W — i o T P = 100 kN -EvF Pe= 33 mm
- BEERHK i = 0.4 -WEFRHE Z = 381
-EEEEELZWE P, = 140.0 kN
- B mEE axb=200 mm x 500 mm
- R FERE R Q= 100 mm
s RFYVGN—AARERE &4 = 200 mm
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- AN op = 0.180 K N/mm?
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¥ = axb
1400 x 33 _
W = gg5—= 0.046 KN/m
" :%XW x 0 x (20 — 01 ) (0,>00 0,=0)
:%x0.046 x 100 x (2 x 100 — 100 )
= 57.8 kN-mm
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M 57.8
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